Bitspower’ Design for MSI X299 MEG CREATION

fc #&
(1 BP-MSMX299MC 14
(@ BP&E® 18
3@ 1s5=rEmBA 2R
(@ M2.5x 8 ki 2%
G zZpzI 2K
(® M2.5x6 BkiBsk 2%
Accessories
(1) BP-MSMX299MC 1SET
(2 BP Armor 1PCS
@ 1.5 mm Thermal Pad 2 PCS
(@ M2.5x8 mm Screw 2PCS
(5) Washer 2PCS
@ M2.5 x 6 mm Screw 2 PCS
fc &
(1) BP-MSMX299MC 14
(2@ BPE® 14
@ 15ZkSHRBA 2R
@ M25x8Bkigy 2%
B ZrET 2R
(6) M2.5x6 =skigs 2%

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

FRERBHERNRAELURBENES - MEEHOASTEN - EREACARGURYRE -
& KRTREN MR BRI RBRNNT - MAENOASITEN - RIS SEGFUIIRE



Bitspower’

BRARNIEREBRMUIE

[] 15 MMEsteE

AR - BKAT - AERRASHEREAIERNUEL - £RMEIH - EKRNERT -
ET24/REKRE - BRRRKEREBRIY  BeRERKMENEHTHER -

B
i
i
0
;
| |
i
0o

T

Applying The Thermal PAD On Correct Positions.

[C] 1.5 MM THERMAL PAD

Before filling in the water, please make sure all the components are installed correctly.

To prevent any leakage which may damage the PC components, please perform a A

SRBRRNIEWNAMTE

] 15 e

EE - KA - BRBIAIASHERREERMME L - £RFEN - BFKRPERT -
HT24/NNEERKI - BRTRKIEREETEN - BERERKTNSRBMBHAIRE

24-hour leaking test with only the pump connected to the power supply .

V1/%8—hR



Bitspower’

A5 : BitspowerZZHEE ERAZMEK - AFK - MABitspowerfIREER K2 RER ; MEFBITEBNKLSRENERERE - KBEEE KRB
A BALER - KEERRYZHEZENRREKERECAURNZEER - HEZRTEERAERTR -
REKE - FZRENIKRENR -
Notice:Bitspower recommends that consumers add the Bitspower dye to distilled water or purified water for their water-cooling liquid. If the
consumer chooses different water-cooling liquids, the resulting impurities may cause peeling of the coating on some of the hardware,
water channels blockage by built-up residue, improper operation of the water pump, water tank tube breakage, and o-rings deformation

leading to leakage. Any issues related to the use of inappropriate water-cooling liquid will be the responsibility of the consumer.
Do not turn on the pump if the reservoir is empty.

X3 : Bitspower BIUHBREEMAMEK - 42K - MABitspowerfIRFIERKSRER ; MBEFETEVMMNKLSRSHBEERE - KEEE - KRE
A MALEE « KEERRAZHETELUBRKEREEATRNZOER - BREEBTEERRTRIE -
RiEKE - BZEMKRER -

Before fill in water,please make sure all the component be installed correctly,avoidingleaking happen and destroy the PC component.

AR - HUKET - BEWAMASHCZREEBRNUEL - £AFEN - SFKRNBERT - #T240NEEANE - BETEKEREBAEN - #eRERKNSHEMBERA -
AATREHERMR ELAURBENES - MEESHOABTEAN - ERBEARFURYRE -

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.
KTATREN R ERURERENNT - MAEEHBASITEMN - FRAeSkAUT Ik -

2 AR HUKED - BEERMASHCRREERNUEL - EAREW - BERKRIERT  ET240EHEKE - BERBKEREBRIN  BRltERKMENEHBMHER -



